# GAMMA NEARRINGS WITH GENERALIZED GAMMA DERIVATIONS $^1$

## Mohd Rais Khan<sup>2</sup> and Mohammad Mueenul Hasnain<sup>3</sup>

**Abstract.** In this paper, we define the notion of generalized  $\Gamma$ derivation for  $\Gamma$ -nearring and extend some results of  $\Gamma$ -derivation of  $\Gamma$ nearrings for generalized  $\Gamma$ -derivation. Also a Posner type result for the composition of generalized  $\Gamma$ -derivations is obtained with some extra condition. Furthermore, examples are given to demonstrate that the restrictions imposed on the hypothesis of the various theorems were not superfluous.

AMS Mathematics Subject Classification (2010): Primary 16Y30, 16W25; Secondary 16U80.

Key words and phrases:  $\Gamma\text{-nearring},$  Prime  $\Gamma\text{-nearring},$   $\Gamma\text{-derivation},$  generalized  $\Gamma\text{-derivation}$ 

## 1. Introduction

In the year 1964, Nabusawa [8] gave a more general concept than a ring, known as  $\Gamma$ -ring. Barnes [1] weakened the condition slightly in the definition of  $\Gamma$ -ring in the sense of Nabusawa. Thereafter, a number of algebraists [1, 6, 7, 9] have studied the structure of  $\Gamma$ -rings and obtained various generalizations analogous to corresponding parts in ring theory. Nearring is a generalization of a ring, as an extension of nearring one can establish  $\Gamma$ -nearrings which is a generalization of  $\Gamma$ -rings. In this context, Satyanarayana [12, 13, 14] introduced  $\Gamma$ -nearrings and studied their properties. Recently, Booth et.al [2, 3] studied various ways to develop  $\Gamma$ -nearrings. Also, Jun (together with Cho and Kim) introduced the notion of  $\Gamma$ -derivations in  $\Gamma$ -nearrings and investigated basic properties (see [4, 5]).

For preliminary definition and results related to nearrings, we refer to Pilz[10]. All nearrings considered in this paper are right distributive. A  $\Gamma$ -nearring is a triple system  $(M, +, \Gamma)$ , where

- 1.  $\Gamma$  is a nonempty set of binary operators such that  $(M, +, \gamma)$  is a nearring for each  $\gamma \in \Gamma$ ,
- 2.  $(x\gamma y)\mu z = x\gamma(y\mu z)$ , for all  $x, y, z \in M, \gamma, \mu \in \Gamma$ .

<sup>&</sup>lt;sup>1</sup>This research is partially supported by UGC-MRP(Grant No:- F.34-138/2008(SR-)).

<sup>&</sup>lt;sup>2</sup>Department of Mathematical, Jamia Millia Islamia (A Central University), New Delhi-110 025, India, e-mail: mohdrais\_khan@gmail.com

 $<sup>^3 \</sup>rm Department$  of Mathematical, Jamia Millia Islamia (A Central University), New Delhi-110 025, India, e-mail: mhamu786@gmail.com

For a  $\Gamma$ -nearring M, the set  $M_0 = \{x \in M \setminus x\gamma 0 = 0, \forall \gamma \in \Gamma\}$ , is called the zero-symmetric part of M. A  $\Gamma$ -nearring is said to be zero-symmetric if  $M = M_0$ . A  $\Gamma$ -nearring is said to be prime if  $x\Gamma M\Gamma y = \{0\}$  implies x = 0or y = 0, for all  $x, y \in M$ . For any  $x, y \in N$  the symbol  $[x, y]_{\gamma}$  and (xy) will denotes the multiplicative and additive commutators  $x\gamma y - y\gamma x$  and x + y - x - y. The symbol Z(N) will represent the multiplicative center of N; that is, Z(N) = $\{x \in N : x\gamma y = y\gamma x \text{ for all } y \in N, \gamma \in \Gamma\}$ . A  $\Gamma$ -prime nearring M is said to be 2 torsion free if (M, +) have no element of order 2 (i.e if  $a \in M$  and 2a = 0 then a = 0). If M and M' are two  $\Gamma$ -nearrings, then an additive mapping  $f : M \longrightarrow M'$  such that  $f(x\gamma y) = f(x)\gamma f(y)$  ( $f(x\gamma y) = f(y)\gamma f(x)$ ), for all  $x, y \in M$ ,  $\gamma \in \Gamma$  is called a  $\Gamma$ -nearring homomorphism ( $\Gamma$ -nearring anti-homomorphism).

In this note, we investigate the conditions for  $\Gamma$ -nearrings with generalized  $\Gamma$ -derivations to be commutative and an analogous version of Posner theorem is obtained for the case of product of two generalized  $\Gamma$ -derivations on  $\Gamma$ -nearring.

Throughout the paper, M denotes a  $\Gamma$ -nearring unless otherwise specified.

### 2. Properties of Generalized $\Gamma$ -Derivations

We start with following definitions and lemmas which will be used extensively.

**Definition 2.1.** An additive mapping  $D: M \longrightarrow M$  is called a  $\Gamma$ -derivation if  $D(x\gamma y) = D(x)\gamma y + x\gamma D(y)$  holds for all  $x, y \in M, \gamma \in \Gamma$ .

**Definition 2.2.** An additive mapping  $F : M \longrightarrow M$  is said to be a right generalized  $\Gamma$ -derivation if there exists a  $\Gamma$ -derivation D on M such that

$$F(x\gamma y) = F(x)\gamma y + x\gamma D(y) \quad \forall \quad x, y \in M, \ \gamma \in \Gamma,$$

and F is said to be a left generalized  $\Gamma\text{-}\mathrm{derivation}$  if there exists a  $\Gamma\text{-}\mathrm{derivation}$  on M such that

$$F(x\gamma y) = x\gamma F(y) + D(x)\gamma y \quad \forall \quad x, y \in M, \ \gamma \in \Gamma,$$

Finally, F is said to be a generalized  $\Gamma$ -derivation associated with D if it is both right as well as left generalized  $\Gamma$ -derivation on M. We shall denote generalized  $\Gamma$ -derivation associated with D on M by (F, D).

**Definition 2.3.** Let A be a nonempty subset of M and F be a generalized  $\Gamma$ -derivation on M with associated derivation D. A generalized  $\Gamma$ -derivation F of M is said to act as a  $\Gamma$ -homomorphism on A if  $F(x\gamma y) = F(x)\gamma y + x\gamma D(y) = F(x)\gamma F(y)$  for all  $x, y \in A, \gamma \in \Gamma$ .

**Definition 2.4.** Let A be a nonempty subset of M and F be a generalized  $\Gamma$ -derivation on M with associated derivation D. A generalized  $\Gamma$ -derivation F of M is said to act as a  $\Gamma$ -anti-homomorphism on A if  $F(x\gamma y) = F(x)\gamma y + x\gamma D(y) = F(y)\gamma F(x)$  for all  $x, y \in A, \gamma \in \Gamma$ .

Now, we try of construct some examples of this type of derivations that would make sense of the theory we are dealing with.

**Example 2.5.** Assume that R is a  $\Gamma_1$ -ring with a nonzero generalized derivation  $(f, \delta)$ . Now, taking  $M = N \bigoplus R$ , where N is a  $\Gamma_2$ -nearring which is not a ring. Observe that M is not a  $\Gamma$ -ring and  $\Gamma$  is a direct product of  $\Gamma_1 \& \Gamma_2$ . Define a map  $F : M \longrightarrow M$  as F(n, r) = (0, f(r)) for all  $n \in N, r \in R$ , is a generalized  $\Gamma$ -derivation associated with D on M, where  $D : M \longrightarrow M$  is a  $\Gamma$ -derivation on M define by  $D(n, r) = (0, \delta(r))$  for all  $n \in N, r \in R$ .

**Example 2.6.** In Example 2.5, if R admits a generalized derivation f associated with  $\delta$  and also acts as a  $\Gamma_1$ -homomorphism, then it is straight to see that F is a  $\Gamma$ -homomorphism on M.

**Example 2.7.** In Example 2.5, if R admits a generalized derivation f associated with  $\delta$  and an anti- $\Gamma_1$ -homomorphism, then it is straight to see that F is an anti- $\Gamma$ -homomorphism on M.

In general, the additive commutativity is not necessary in a  $\Gamma$ -nearring. The following results (i.e. Lemma 2.8 & 2.9) are significant in their own right.

**Lemma 2.8.** Let (F, D) be a right generalized  $\Gamma$ -derivation of M. Then  $F(x\gamma y) = x\gamma D(y) + F(x)\gamma y, \ \forall x, y \in M \ \gamma \in \Gamma$ .

*Proof.* For any  $x, y \in M, \ \gamma \in \Gamma$ , we get

$$F((x+x)\gamma y) = F(x+x)\gamma y + (x+x)\gamma D(y)$$
  
=  $F(x)\gamma y + F(x)\gamma y + x\gamma D(y) + x\gamma D(y)$ 

and

$$F(x\gamma y + x\gamma y) = F(x\gamma y) + F(x\gamma y)$$
  
=  $F(x)\gamma y + x\gamma D(y) + F(x)\gamma y + x\gamma D(y).$ 

Comparing these equations, one can obtain

$$F(x)\gamma y + x\gamma D(y) = x\gamma D(y) + F(x)\gamma y.$$

Hence,  $F(x\gamma y) = x\gamma D(y) + F(x)\gamma y$ .

**Lemma 2.9.** Let (F, D) be a left generalized  $\Gamma$ -derivation of M. Then

$$F(x\gamma y) = D(x)\gamma y + x\gamma F(y), \ \forall \ x, y \in M \ \gamma \in \Gamma.$$

*Proof.* Arguing in the similar manner as we have done in the proof of Lemma 2.8, we get the required result.  $\Box$ 

The crucial fact is that the definition of generalized  $\Gamma$ -derivation implies partial distributive law.

**Lemma 2.10.** Let (F, D) be a generalized  $\Gamma$ -derivation of M. Then, for all  $a, x, y \in M \ \gamma, \eta \in \Gamma$ 

$$a\eta F(x\gamma y) = a\eta x\gamma D(y) + a\eta F(x)\gamma y.$$

*Proof.* By calculating  $F(a\gamma x\eta y)$  in two different ways, we obtain the required result easily.

### 3. Main results

Our best results are extension of some theorems of [5, 15]. In this section we investigate possible analogues of these results, where D is replaced by a generalized  $\Gamma$ -derivation F.

We will need two easy lemmas.

**Lemma 3.1.** [15] Let M be a  $\Gamma$ -prime nearring

- 1. Let  $z \in Z \setminus \{0\}$  be an element such that  $z + z \in Z$ . Then (M, +) is abelian.
- 2. Let  $D \neq 0$  be a  $\Gamma$ -derivation on M. Then  $x\Gamma D(M) = \{0\}$  implies x = 0, and  $D(M)\Gamma x = \{0\}$  implies x = 0.
- 3. Let M is 2 torsion free and D is a  $\Gamma$ -derivation on M such that  $D^2 = 0$ , then D = 0.

**Lemma 3.2.** Let M be a  $\Gamma$ -prime nearring, (F, D) a nonzero generalized  $\Gamma$ -derivation of M and  $a \in M$ .

- 1. If  $a\Gamma F(M) = 0$ , then a = 0 or D = 0.
- 2. If  $F(M)\Gamma a = 0$ , then a = 0 or D = 0.

*Proof.* (1) For any  $x, y \in M, \gamma, \eta \in \Gamma$ , we get

$$0 = a\eta F(x\gamma y) = a\eta (x\gamma D(y) + F(x)\gamma y).$$

By using an application of Lemma 2.10, we arrive

$$a\Gamma M\Gamma D(y) = 0.$$

In view of M primeness, we obtain the required result. (2) A similar argument works if  $F(M)\Gamma a = 0$ .

**Theorem 3.3.** Let  $(F, D \neq 0)$  be generalized  $\Gamma$ -derivation of M. If M is a 2 torsion free  $\Gamma$ -prime nearring and  $F^2 = 0$ , then F = 0.

*Proof.* For any arbitrary  $x, y \in M \& \gamma \in \Gamma$ , we have

$$0 = F^{2}(x\gamma y) = F(F(x)\gamma y + x\gamma D(y))$$
  
=  $F^{2}(x)\gamma y + 2F(x)\gamma D(y) + x\gamma D^{2}(y).$ 

In view of hypothesis, we have

(3.1) 
$$2F(x)\gamma D(y) + x\gamma D^2(y) = 0, \ \forall \ x, y \in M, \ \gamma \in \Gamma.$$

Replacing x by F(x) in (3.1) and using the hypothesis, we find that

$$F(x)\gamma D^2(y) = 0, \ \forall \ x, y \in M, \ \gamma \in \Gamma.$$

From Lemma 3.2, we obtain  $D^2(M) = 0$  or F = 0. If  $D^2(M) = 0$ , then D = 0 from Lemma 3.1(1). It contradicts  $D \neq 0$ . This completes the proof.

*Remark* 3.4. If F = D, then we reach the Lemma 3.1(3).

**Theorem 3.5.** Let M be a 2 torsion free  $\Gamma$ -prime nearring with a nonzero generalized  $\Gamma$ -derivation  $(F, D \neq 0)$ . If  $F(M) \subset Z$ , then (M, +) is abelian. Moreover, if M be a 2 torsion free, then M is commutative.

*Proof.* Suppose that  $a \in M$  such that  $F(a) \neq 0$ . So,  $F(a) \in Z \setminus \{0\}$  and  $F(a) + F(a) \in Z \setminus \{0\}$ . It follows from Lemma 3.1 that (M, +) is abelian.

Now, for any  $x, y, z \in M$ ,  $\mu, \eta \in \Gamma$ , we have

$$z\eta F(x\mu y) = F(x\mu y)\eta z.$$
  
$$z\eta(x\mu D(y) + F(x)\mu y) = (x\mu D(y) + F(x)\mu y)\eta z.$$

In light of Lemma 2.10, we obtain

$$z\eta x\mu D(y) + z\eta F(x)\mu y = x\mu D(y)\eta z + F(x)\mu y\eta z.$$

Using the fact that  $F(x) \in Z$  and (M, +) is abelian, we find that

(3.2) 
$$z\eta x\mu D(y) - x\mu D(y)\eta z = [y, z]_{\eta}\mu F(x), \ \forall x, y, z \in M, \mu, \eta \in \Gamma.$$

Substituting F(y) for y in (3.2) and using the hypothesis to find that

$$z\eta x\mu D(F(y)) - x\mu D(F(y))\eta z = 0 \ \forall \ x, y, z \in M, \ \mu, \eta \in \Gamma.$$

Since  $F(y) \in Z$  it implies that  $D(F(y)) \in Z$  and using Lemma 2.10 to get

$$D(F(y))\mu[z,x]_{\eta} = 0 \ \forall \ x,y,z \in M, \ \mu,\eta \in \Gamma.$$

From Lemma 3.1(1), we obtain D(F(y)) = 0 for all  $y \in M$  or M is commutative. Suppose that D(F(y)) = 0, for all  $y \in M$ . Then

$$0 = D(F(x\gamma y)) = D^2(x)\gamma y + D(x)\gamma D(y) + D(x)\gamma F(y), \ \forall \ x, y \in M, \ \gamma \in \Gamma.$$

Replacing y by  $y\eta z$  in last relation and using it, it follow from Lemma 2.10 that

$$2D(x)\gamma y\eta D(z) = 0, \ \forall x, y, z \in M, \ \gamma, \eta \in \Gamma.$$

Since M is 2 torsion free, we get

$$D(M)\Gamma M\Gamma D(M) = 0.$$

Thus, we obtain D = 0. It contradicts  $D \neq 0$ . We must have M is commutative.

**Theorem 3.6.** Let M be a  $\Gamma$ -prime nearring and (F, D) a generalized  $\Gamma$ derivation of M. If F acts as  $\Gamma$ -homomorphism on M, then D = 0. *Proof.* By the hypothesis, we have

(3.3) 
$$F(x\gamma y) = F(x)\gamma y + x\gamma D(y), \ \forall \ x, y \in M, \ \gamma \in \Gamma.$$

Taking  $y\eta x$  instead of y in (3.3) we obtain

$$x\gamma D(y\eta x) + F(x)\gamma y\eta x = F(x)\gamma F(y\eta x) = F(x)\gamma(y\eta D(x) + F(y)\eta x).$$

From Lemma 2.10 and using the hypothesis we find that

(3.4) 
$$x\gamma y\eta D(x) = F(x)\gamma y\eta D(x), \ \forall \ x, y \in M, \ \gamma, \eta \in \Gamma.$$

Replacing y with F(y) in (3.4) and using primeness of M, we have desired conclusion.

**Theorem 3.7.** Let M be a  $\Gamma$ -prime nearring and (F, D) a generalized  $\Gamma$ derivation of M. If F acts as anti  $\Gamma$ -homomorphism on M, then D = 0.

*Proof.* Suppose that F acts as anti  $\Gamma$ -homomorphism on M. Then

$$(3.5) \ F(x\gamma y) = F(y)\gamma F(x) = x\gamma D(y) + F(x)\gamma y, \ \forall \ x, y \in M, \ \gamma \in \Gamma.$$

Replacing x by  $x\eta y$  in (3.5) and using Lemma 2.10, we obtain

$$x\gamma y\eta D(y) + F(x\gamma y)\eta y = F(y)\gamma F(x\eta y) = F(y)\gamma x\eta D(y) + F(x\gamma y)\eta y$$

and so,

(3.6) 
$$x\gamma y\eta D(y) = F(y)\gamma x\eta D(y), \ \forall \ x, y \in M, \ \gamma, \eta \in \Gamma.$$

Take  $m\mu x$  instead of x in (3.6) and use it to find that

$$\begin{split} F(y)\gamma m\mu x\eta D(y) &= m\mu x\gamma y\eta D(y) &= m\mu F(y)\gamma x\eta D(y), \\ &\quad \forall x, y, m \in M, \ \gamma, \mu, \eta \in \Gamma. \end{split}$$

In particular, if  $\mu = \gamma$  and so,

$$[F(y), m]_{\mu} \gamma x \eta D(y) = 0, \ \forall \ x, y, m \in M, \ \gamma, \mu, \eta \in \Gamma.$$

In view of M primeness, we arrive at D(y) = 0 or  $F(y) \in Z$  for all  $y \in M$ . In the latter case,  $F(M) \subset Z$ , which forces F to act as  $\Gamma$ -homomorphism on M, and so, D = 0 by Theorem 3.6. This completes the proof.

The following examples shows that the restrictions is imposed on the hypotheses of Theorem 3.6 & 3.7 are superfluous.

**Example 3.8.** In Example 2.5, if R admits a generalized derivation f associated with  $\delta \neq 0$  and also acts as a  $\Gamma_1$ -homomorphism or anti  $\Gamma$ -homomorphism. Then it is straight to see that F is a  $\Gamma$ -homomorphism or anti  $\Gamma$ -homomorphism on M. However, D is not equal to zero.

A well known theorem due to Posner[11] state that if the composition of two derivations of a prime ring of characteristic not equal to two is again a derivation, then at least one of them must be zero. An analogue of this result in nearrings was obtained by Wang [16]. Jun et.al. [5] generalized this result for  $\Gamma$ -derivations of  $\Gamma$ -nearrings. It is naturally ask question: what can we say about this result if we replace  $\Gamma$ -derivations D with generalized  $\Gamma$ -derivations F. The following theorem gives an answer in the affirmative.

**Theorem 3.9.** Let (F, D) and (G, H) be generalized  $\Gamma$ -derivations of a 2 torsion free  $\Gamma$ -prime nearring M. If (FG, DH) acts as a generalized  $\Gamma$ -derivation on M, then F = 0 or G = 0.

In order to prove above theorem, we need to prove the following lemmas.

**Lemma 3.10.** Let (F, D) and (G, H) be  $\Gamma$ -derivations of M. If H is a nonzero  $\Gamma$ -derivation on M and  $F(x)\gamma H(y) = -G(x)\gamma D(y)$ , for all  $x, y \in M, \gamma \in \Gamma$ , then (M, +) is abelian.

*Proof.* Assume that

$$F(x)\gamma H(y) = -G(x)\gamma D(y), \ \forall \ x, y \in M, \ \gamma \in \Gamma.$$

Replacing y with y + z in above relation and using Lemma 2.10 to find that

$$F(x)\gamma H(y) + F(x)\gamma H(z) = -G(x)\gamma D(y) - G(x)\gamma D(z),$$
  
$$\forall x, y, z \in M, \ \gamma \in \Gamma.$$

Using the hypothesis and from Lemma 2.10, we obtain

$$F(x)\gamma H(y,z)=0, \ \forall \ x,y,z\in M, \ \gamma\in \Gamma.$$

It follows from Lemma 3.2 that H(y, z) = 0 for all  $y, z \in M$ . For any  $w \in M, \mu \in \Gamma$ , we have

$$H(y\mu w, z\mu w) = H((y, z)\mu w) = H(y, z)\mu w + (y, z)\mu H(w) = 0$$

and so,

$$(y,z)\mu H(w) = 0.$$

From Lemma 3.1(2), we have desired conclusion.

**Lemma 3.11.** Let (F, D) and (G, H) be  $\Gamma$ -derivations of M. If M is a 2 torsion free  $\Gamma$ -prime nearring and  $F(x)\gamma H(y) = -G(x)\gamma D(y)$ , for all  $x, y \in M, \gamma \in \Gamma$ , then F = 0 or G = 0.

*Proof.* The proof is trivial, if D = 0 or H = 0. So, we may assume that  $D \neq 0$  and  $H \neq 0$ . Therefore we know that (M, +) is abelian by Lemma 3.10.

Now, in view of hypothesis, we have

$$F(x)\gamma H(y) + G(x)\gamma D(y) = 0, \ \forall \ x, y \in M, \ \gamma \in \Gamma.$$

Taking  $x\mu z$  instead of x in last relation we get

$$0 = F(x\mu z)\gamma H(y) + G(x\mu z)\gamma D(y)$$
  
=  $x\mu F(z)\gamma H(y) + D(x)\mu z\gamma H(y) + x\mu G(z)\gamma D(y) + H(x)\mu z\gamma D(y),$   
 $\forall x, y \in M, \gamma \in \Gamma.$ 

In light of hypothesis and from Lemma 2.10, one can find that

(3.7) 
$$D(x)\mu z\gamma H(y) = -H(x)\mu z\gamma D(y) \ \forall \ x, y \in M, \ \gamma \in \Gamma.$$

Replacing  $y\eta m$  with y in (3.7) and using Lemma 2.10, we obtain

$$D(x)\mu z\gamma H(y)\eta m + D(x)\mu z\gamma y\eta H(m)$$
  
=  $-H(x)\mu z\gamma D(y)\eta m - H(x)\mu z\gamma y\eta D(m)$ .

That is,

$$(3.8) \quad D(x)\mu z\gamma y\eta H(m) = -H(x)\mu z\gamma y\eta D(m), \ \forall \ x, y, z, m \in M, \ \mu, \eta, \gamma \in \Gamma.$$

Substituting y by H(y) in (3.8) and from Lemma 2.10, thereafter by using (3.7), we find that

$$H(x)\Gamma M\Gamma(D(y)\eta H(m) - H(y)\eta D(m)) = 0, \ \forall \ x, y, m \in M, \eta \in \Gamma.$$

It follows from Lemma 3.1(2) that

(3.9) 
$$D(y)\eta H(m) = H(y)\eta D(m)), \ \forall \ y, m \in M, \eta \in \Gamma.$$

Now, taking  $x\mu z$  instead of x in the initial hypothesis we obtain

$$F(x)\mu z\gamma H(y) + x\mu D(z)\gamma H(y) + G(x)\mu z\gamma D(y) + x\mu H(z)\gamma D(y) = 0.$$

In view of (3.9), the above expression yields that

$$F(x)\mu z\gamma H(y) + 2x\mu H(z)\gamma D(y) + G(x)\mu z\gamma D(y) = 0.$$

Replace z with H(z) in last expression, we arrive at

$$F(x)\mu H(z)\gamma H(y) + 2x\mu H^2(z)\gamma D(y) + G(x)\mu H(z)\gamma D(y) = 0.$$

In view of hypothesis and from (3.9), one can obtain

$$2x\mu H^2(z)\gamma D(y) = 0, \ \forall \ x, y, z \in M, \mu, \gamma \in \Gamma..$$

Since M is a 2 torsion free  $\Gamma$ -prime nearring, we obtain  $H^2(M)\Gamma D(M) = 0$ . An appeal of Lemma 3.1(2) & (3) gives that H = 0. It contradicts our assumption. This completes the proof.

Now, we are in position to proof our Theorem 3.9.

*Proof.* By calculating  $FG(x\gamma y)$  in two different ways, we see that

$$G(x)\gamma D(y) + F(x)\gamma H(y) = 0, \ \forall \ x, y \in M, \ \gamma \in \Gamma.$$

The proof is completed by using Lemma 3.11.

*Remark* 3.12. If F = G, then we find Theorem 3.3.

Using equality  $G(x)\gamma D(y) + F(x)\gamma H(y) = 0, \forall x, y \in M, \gamma \in \Gamma$  of Lemma 3.11, we can prove the following interesting result.

**Corollary 3.13.** Let M be a  $\Gamma$ -nearring and F and G be generalized  $\Gamma$ -derivations on M such that FG is a  $\Gamma$ -derivation. Then GF is also a  $\Gamma$ -derivation.

*Proof.* Obviously GF is an additive endomorphism of M. By equality  $G(x)\gamma D(y) + F(x)\gamma H(y) = 0, \forall x, y \in M, \gamma \in \Gamma$ , we have

$$GF(x\gamma y) = G(F(x)\gamma y + x\gamma F(y)) = G(F(x)\gamma y) + G(x\gamma F(y))$$
  
= 
$$GF(x)\gamma y + (F(x)\gamma G(y) + G(x)\gamma F(y)) + x\gamma GF(y)$$

Thus, GF is a derivation by Lemma 3.11. This completes the proof.

The following example demonstrate that the Theorem 3.9 does not hold for arbitrary rings.

**Example 3.14.** In Example 2.5, define another map  $G : M \to M$  as G(n,r) = (g(n),0) for all  $n \in N$ ,  $r \in R$ , where N is a  $\Gamma_2$ -nearring and admits a nonzero generalized  $\Gamma_2$ -derivation (g, d). Then it is straightforward to see that G is also a generalized  $\Gamma$ -derivation associated with H on M, where  $H : M \to M$  is defined by H(n,r) = (d(n),0) for all  $n \in N$ ,  $r \in R$  is  $\Gamma$ -derivation on M. We can easily see that (FG, DH) acts as generalized  $\Gamma$ -derivation on M but neither F = 0 nor G = 0. Hence, in Theorem 3.9 the hypothesis is crucial.

#### References

- Barnes, W. E., On the Γ-rings of Nobusawa. Pacific J. of Math. 18 (1966), 411-422.
- [2] Booth, G. L., A note on Γ-near-rings. Studia Sci. Math. Hungarica 23 (1988), 471-475.
- [3] Booth, G. L. and Groenewald, N. J. Equiprime Γ-near-rings. Quaestiones Mathematicae 14 (1991), 411-417.
- [4] Cho, Y. U. and Jun, Y. B., Gamma-derivations in prime and semiprime gamma nearrings. Indian J. Pure & Appl. Math. 33 (2002), 1489-1494.
- [5] Jun, Y. B., Kim, K. H. and Cho, Y. U., On gamma-derivations in gammanearrings. Soochow J. Math. 29 (2003), 275-282.
- [6] Kyuno, S., On prime gamma rings. Pacific J. of Math. 75 (1978), 185-190.

- [7] Luh, J., On the theory of simple Γ-rings. Michigan Math. J. 16 (1969), 65-75.
- [8] Nobusawa, N., On a generalization of the ring theory. Osaka J. Math. 1 (1964), 81-89.
- [9] Öztürk, M. A. and Jun, Y. B., On the centroid of the prime gamma rings. Commun. Korean Math. Soc. 15 (2000), 469-479.
- [10] Pilz, G., Near-rings. (2nd edition), North-Holland, Amsterdam, 1983.
- [11] Posner, E. C., Derivations in prime rings. Proc. Amer. Math. Soc. 8 (1957), 1093-1100.
- [12] Satyanarayana, B., A note on Γ-rings. Proc. Japan Acad. Ser. A Math. Sci. 59 (1983), 382-383.
- [13] —, Contributions to near-ring theory. Doctoral Thesis, Nagarjuna University, India, 1984.
- [14] —, A note on Γ-near-rings. Indian J. of Math. 41 (1999), 427-433.
- [15] Uckun, M., Öztürk, M. A. and Jun, Y. B., On prime gamma-near-ring with derivations. Commun. Korean Math. Soc. 19 (2004), 427-433.
- [16] Wang, X. K., Derivations in prime near-rings. Proc. Amer. Math. Soc. 121 (1994), 361-366.

Received by the editors March 16, 2012